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import java.uti. Random;

class Dice {
private Random randorm; (C)TestDice| _ > (€)Dice
public Dice() {
this.random = new Random();
} o
oublic int roll() { (©pice
return random.nextint(6) + 1; (€)Random —
}
}
public class TestDice { v
public static void main(String[] args) {
Dice dice1 = new Dice(); @ Random ‘
dice.roll();
Dice dice2 = new Dice(); L
dice2.roll() association
}

}
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import java.util.Random;

class Dice {
behC Dice() { @TestDice 3 _}@)Dice @ Dice
public int roll(Random random) { Y I B
return random.nextint(6) + 1; Y K A
} 9 )

I
} @Randum |
I

public class TestDice {

public static void main(String[] args) {
Random random = new Random(); @ Random

Dice dice1 = new Dice();

dice.roll(random);
Dice dice2 = new Dice(); dependency
dice2.roll(random);
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public class HumanBody {

private Lens lens;
public HumanBody(Lens lens) { | @ HurmanBody }3 ‘ @ Lens

this.lens = lens;
}

}
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o 3 (composition)
s MM 22O WY FI|7t o|&H (F, TH K7t SO K| H
S8 M Z glof7)
s AMXIL HASO|A K E MEHA B H0 XMESHTHH
TMolgtn 2™ &
» UMLOM = A 1F "=50[ £ CIO|O=E" EYC = HA|
= MAe &

public class HumanBody {
Eyes eyes;

public HumanBody() { | @ HumanBody | . | @ Eyes

this.eyes = new Eyes();
}

}
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@startuml
class A @ s

class B
class C
class D
class E
class F
class G
class H

C -right-> D
A left>B
E*-F
Go-—-H
@enduml
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S 2ot 0|52 ZafAa7t =S
——— WebFile.class M Qe - oAl [ @ =HFAH
FileCopy.class
FileRW.class
Tools.class
O|&2 X2t A2HO| CI2H
12 U2 32
DObject.class
Line.class project/filelO/Tools.class
Rect.class project/ul/Tools.class
Circle.class
Main.class
GUIl.class
EventHandler.class

Tools.class



il 7| X] (Package)

o Ii7|X]
» AHE SYASES FOA 2
n A AE(java)2f SElA MY (class)== =L (directory) =
LEF0{ A 22|
= S22 O|F0| 20t Z=dt= A2 7| sl AtE
o ofLie| 8= =M O 7| If7|X| = &8 7t
= SILIO| Ii7|X|2 RtED B E A IS 90 & 2 US
o {7|X|= jar T2 Y=
= jarIt2 Java Archivel| X2
HiZSH| €l =& BtE D7 |X| ot &4
o O|0] I{7|X|E AFSoHB=

AN O

import java.time.LocalDateTime;
import java.util.Date;



il 7| X] (Package)

N L=| RSl T e PN
» java® A|AE= I7(X[E2 7|2 MS 7| K|
= javax= 2 IHE
= time, util2 A2 & 718
o I 7[X|er S f
java.lang.Object
java.applet.AudioClip
java.awt.Component.AccessibleAWTComponent

javax.swing.text.ntml.HTML
javax.imageio.lImageReader

o I{7|X| O|F &87d 4§
n Z=OHA| A AirEA B = US
» AHHECE URLE ATE &
= EhOisti (dankook.acknO M BH=™ krac.dankook i 7| X|
JNE=REIPS

O -0




il 7| X] (Package)

O

O

E Ol

_I'T'_I

A

)

7|K| = A AEL} class T (ALY =l A=)
HdED(ZH) RS 0|20l Al &g
=

7|1X] Ol&= &4 X2 2dE 0 U=
7IX|0|82 HHOIE V2B v

o= 20 0|F, '& E4& #=%tc 'W (R EF)
£ (§H2 AY

O£ &0 java.time.LocalDateTime S|4 L2 java/time
EE = javattime =50 LocalDateTime.class2t= O|S2 2
INESE=

=2 E00 = sifg 7| X0 =22 = CHE S
sk AS

LocalDateTime java It 2 & java/time =0 QLO{OF &
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java.applet. AudioClip src/java/applet/AudioClip.java
classes/java/applet/AudioClip.class

javax.swing.text.htmlLHTML  src/javax/swing/text/html/HTML java
classes/javax/swing/text/html|/HTML.class

krac.dankook.ace.Dice src/kr/ac/dankook/ace/Dice.java
classes/kr/ac/dankook/ace/Dice.class



o 7| x| A8 &

o {7|X|e] 2ehAS AtEota{ B O Ij7|X|0f £t
S AKX =torA| ZEO| &#7|o5|{0F &

0 importE AMBOIA| Qs AL
= TH7|X| 0|23t S~ 0|50| FH ZRHS WFO{0} 3

public class ImportExample {
public static void main(String[] args) {
java.util.Scanner scanner = new java.util. Scanner(System.in);

}
}

O import A&
= AE BEF0 ArEotd = D7\ X| BA| & 240 L
import java.util.Scanner;
public class ImportExample {

public static void main(String[] args) {
Scanner scanner = new Scanner(System.in);

}
}

HEF FA|

-—
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0 22 IF|R0| Y SAZS o Jf AFREHCHE?

import java.util. Vector;
import java.uti. Random;
import java.util. ArrayList;
import java.util.Calendar;
import java.util. Timer;
import java.util. UUID;

o Oj7|X| Lf MH SeHA2E S HO import
s *= S| 7K Yo SHATE ol0|stH o2 T7| X9

S ATK] ZeorX| fE=Ct

LS 1—

import java.util.;
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o Ij7[X| O| 50| Ct=EX|2F S A 0| F0| ZLtH?

import java.util.;
import kr.ac.dankook.ace.”;

java.util. Random rand1 = new java.util. Random();
kr.ac.dankook.ace.Random rand2 = new kr.ac.dankook.ace.Random();

O static import
= 2oL OH0f ZolEl 3 oLt S oL
g import == ArEStE 2L 0|82

ALg3He H20j
2k5}0f & &Lt

0= M|

import static java.lang.Math.*;
double r = cos(PIl * theta);
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®Hectaﬂgle

length: int
width: int

areal): int

@Cnurse.

@ Circle

center: int
radius: int

areal): int

@Emallment




i 7| X| S UMLE E7|d}7]

0 PlantUMLO|| A #7| B
package ZHZ|X|O|& {
mZ|X|of| 28 El= ZeiA OlF

}
o 7X2 F2 EF
@startumi

. my)\
package my.register {
class Student register)

class Course (©)student  |(€)Course

class Enrollment

}

package my.figures {
©Enro|lment
class Rectangle

©Rectar1gle

class Circle

}
@enduml




JDK ®&E Ij{7|X|

- O X
¢
v | O /2 Search lang
~ Name h Date modified Type Size ~
S U —
* / 7z annotation 2()\21%4—1 2 2% 12:29 File folder
* | constant 2021-012 2% 12:29 File folder
e invoke 2021 704I1 2F12:29 File folder
module 2021-04412 @ F 12:29 File folder
&j Pictures 1 ref 2021-04,12 2% 12:29 File folder
ext | reflect 2021-04M2 2% 1229 File folder
KakaoTalk Downloads | runtime 2021 —04'1 2 2Z12:29 File folder
video I D AbstractMethodError.class 2020—09'1 52F 1:51 CLASS File 1KB
B Videos | || AbstractStringBuilder.class 2020*09'1 5 2F 1:51 CLASS File 20 KB
[l Appendable.class 2020-09315 2% 1:51 CLASS File 1KB
@ OneDrive | [ ApplicationshutdownHooks$ 1.class 2020-09-15 = 1:51 CLASS File 1K8
W This PC | ] ApplicationShutdownHooks.class 2020-09°15 2% 1:51 CLASS File 3KB
B 3D Objects | D ArithmeticException.class 2020—09'1 5 2% 1:51 CLASS File 1KB
B Desktop | [ ] ArrayindexOutOfBoundsException.class 2020-09}15 2= 1:51 CLASS File é—KB A 0| 0|2 (A =
[ ] ArrayStoreException.dass 2020-0915 2= 1:51 CLASS File = I@'H ——| | E( o E O)
Documents I [ assertiontrron.cass 20200915 2% 151 CLASS File N
¥ Downloads | [ AssertionstatusDirectives.class 2020-09:15 2% 1:51 CLASS File [ ks Y
d Music I [ AutoCloseable.class 2020-09ks 23 151 CLASS File o 1KB
&= Pictures | D Boolean.class zugu—09!1 5 157 CLCASS File > Ja\ﬁa. I a ng . BOO I ea n
E Videos I D BootstrapMethodError.class 2020*09'1 52F 1:51 CLASS File 1KB
% Local Disk (C) | [ ] Byte$ByteCache.dass 2020-0915 2F 1:51 CLASS File u_gf_/
 New Volume (D) | D Byte.class 2020*09'1 522N CLASS File 6 KB
[] Character$CharacterCache.class 2020-0915 2% 15 CLASS File 1 @_H 9' XLEI=|
¥ Network ¥\ [ Character&Shest dlass 2070 n!m O 151 1 ASS File 1KR
269 items \5__________’/ -r

java.base.jmod javalang Tj7|X|Of &3t SajA
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o import 7|} EE 0|83 LS AFESHLICHD
HA|SIH, SeiA 2t0|E 22| HZE(classpath)Z X|H =
ZHO0AM SHAE A &=

o 229 HX[(E =) X8
n oA B F=E X[HotE W 271K - (WM 2 AR A Y

ClEa e &ECt
AMAE 2 Ha= CLASSPATHO| - =l ClAEZ|0 A HE=C

Systemn variables

Variable Value
aslleg Destination=file

CLASSPATH MC\Program Files [xB6)\Java'JMapViewer-2.0WMapViewer jarC:\Pr...
ComSpec CAWINDOWS system3 2 emd. exe
GTK_BASEPATH CAProgram Files (xB6)\GtkSharph 2,12

Javall &M —classpath& A2 = QULCH

CH> java|-classpath Cclasses, C-Hib,.\library.Rectangle

Al Seff2 THYO0| EXW5t= W7 X| = E 2| HEE -classpath
of X%

Ilo >
2z o
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oA DEe A MAss ME S X8
g5 A Z0j0F &

o AtHF AAFE0f| "package If7|X|_O|&"2 &1 I E 3

o Of Al

package kr.ac.dankook.ace.app;
public class App {

}
o App.javas kr/ac/dankook/ace/app/App.javaz X%



of 7| x| HS7| 25

o Z=HME 49

o If7|X| &
m kr.ace.dankook.ace.app
= kr.ace.dankook.ace.chocolate
= kr.ace.dankook.ace.coffee

m kr.ace.dankook.ace.triplecalculator
o Li7|X| 2d0| 2= 213}

 src > kr > ac > dankook > ace >

)] W N ¥ = g7~

et
0I&

-

app 2
chocolate 21

coffee 21

triplecalculator 21
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o kr.ac.dankook.ace.chocolate I{ 7| X| @t0|| Chocolate
=2 Tt=7|

o Chocolate A9 AA =N

package @ankook.ace.choc%
[ tt2 W7|X|, = app W7|X|

public class Chocolate== of TajAofM Host = o
private ChocolateBrand brand; *l CE 87| 98 S2ejAo ®

private ChocolateType type; = X" publicg BHEA|

AROI
H -d.

4

public Chocolate(ChocolateBrand brand, ChocolateType type) {
this.brand = brand;
this.type = type;

}



0 kr.ac.dankook.ace.app IH7|X| St0{ App SeiA TH=7]
O Appjava &8 & &4 =7 (e o )

import — B H.

Chocolate 222 E AL}
7| -?—|3H*1E l_LH?le% ot
ot detot Z2FHS AL

20| A &e{F{OF g

import kr.ac.dankook.ace.chocolate.Chocolate;
import kr.ac.dankook.ace.chocolate.ChocolateBrand;

import kr.ac.dankook.ace.chocolate.ChocolateType;

package kr.ac.dankook.ace.app;

4

public class App{
public static void main(String[] args) {
Chocolate chocolate = new Chocolate(new
ChocolateBrand(“Linkt”, “Swiss”), ChocolateType.MILK_CHOCOLATE);
}
}



o 7| X[2] £

o 7| X|e| &3
» 7 |X] ASHZ
Sof AL AIHHO|ATE LS BEOFK|H 22| O Z
SHHE SefA oS otLte| If 7| X[ =2 AlS2tsto] £t2| &0|
o 7| X2 H2 Het
default2 M E SefjALl HH= Y 7| X] LHe| SeiA=0|
NS = X*J*FEE &

n ST 0|52 AL CIHLO|AL] A 7hs
MEZ ChE JlH9|7(|01| O|F0] &2 =2t AIHLO|A EXY 7ts
n =2 2T EQ0 TAREE
22t 0 M HS3St= AHHE API= W7 | X2 2O 9)'\%
java.lang, java.io 2| T{7|X|Z H&0| ¥L0| D HSHA] B4

olzxgl T2 ]S FICHS| RS & 9l



Xt} JDKe| Tf 7| X| =

o JDK I{Z| K|
s KHHIOA = DHAE SYPASS BEZX I)7| X2 2O AFRXHO|A)
2

= XtHFOIAM K|S 3St= TH7 | K= CRIO{e] HEF 20| E 22| FA
» JDK & I{7|X|= XtHF 1.87HX| rtjar DO =X}, O|=
java.basejmod E=0| =X}

= java.base (oracle.com)
https://docs.oracle.com/en/java/javase/21/docs/api/index.html



T8 Ij7|X|

O java.lang
= XtH} language T 7| K|
LEE, ot ot UEH S AH Z2I2 Y0 BRS 7[=X 2
S At QB L 0] A
= AE2E import & - import & 28 §l&
O java.util
= KHH} SEIZ|E| T)7| K|

LIN AI’* HEH, SHAIY St 22 Ctdet R EEIEl S22t AHEHO[A
A&
O java.io
= 7|EE, E'—IE1HE_E1 A3 S0 fiE8e 2 + Us 2t
ClE{H o[~ XS
O java.awt

s XpHE GUI Z288 = ?leh St AHI 0|2 K&

O javax.swing
= ApHEGUI Z2O2YS fleh 2& 17| X|



XHH} APl X

o XtHE APl &M & Oracle Technology Network XS

0O [ jevabaseava SE17&IDK1T) x |+

< C m () https://docs.oracle.com/en/java/javase/17/docs/apifjavabase/module-summary.htmi#packages-summary A G Ts 9 o = @ L
OVERVIEW PACKAGE CLASS USE TREE PREVIEW NEW DEPRECATED INDEX HELP Java SE 17 & JDK 17
MODULE: DESCRIPTION | MODULES | PACKAGES | SERVICES SEARCH: |O\ Search xl

Module java.base

module java.base
Defines the foundational APIs of the Java SE Platform.

Providers:

The JDK implementation of this module provides an implementation of the jrt file system provider to enumerate and read the class
and resource files in a run-time image. The jrt file system can be created by calling
FileSystems.newFileSystem(URI.create("jrt:/")).

Module Graph:

java.base

Tool Guides:
java launcher, keytool

Since:
9
Packages
Exports |
Package Description
java.io Provides for system input and output through data streams, serialization and the file system.
java.lang Provides classes that are fundamental to the design of the Java programming language.
java.lang.annotation Provides library support for the Java programming language annotation facility.
java.lang.constant Classes and interfaces to represent nominal descriptors for run-time entities such as classes or
method handles, and classfile entities such as constant pool entries or invokedynamic call sites.
java.lang.invoke The java.lang.invoke package provides low-level primitives for interacting with the Java

Virtual Machine.
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729 Z A0 A

o=%
» javalang I§7|X|Of =&
= AtHE A A S
2= Sei2ol =1 SefA
o TR AL

HAS

protected Object clone()

boolean equals(Object obj)

Class getClass()

int hashCode()

String toString()

void notify()

void notifyAl1()

void wait()

CHE Ad|E7} 7HE W7EK] SR A|EE TH7[sHA| Sttt

—_



Wrapper Steli2

o AtHEC| 7|2 EIY=2 SelAztet 87 SeiA
7= byte short int long char float double boolean
ololg ErY
Wrapper
ZapA o) Byte | Short | Integer Long Character Float Double Boolean
o2k
= 7|2 EfRO afE A = Bl ANT ArESt= 2N S0
7|2 EtYC| 442 Wrapper S22 HHZE THS0 AL



Wrapper Z4H| 4/

o 7|2 EfRe| 4= QIAIE Wrapper SejA A dX 2 &

Integer i = new Integer(10);
Character ¢ = new Character('c');

Float f = new Float(3.14);
Boolean b = new Boolean(true);

o HO|H 4= UEtH= A8 S HdAt AXZE AHE

Boolean b = new Boolean(" false ");
Integer | = new Integer(" 10 ");
Double d = new Double(" 3.14 ");

0 Float= double EfRI2| 4= M/ AXtQ| CIAE ALE

Float f = new Float((double) 3.14);



o 7t BO| AFESHE Integer 2229 T8 HAE
A= 243

static int bitCount(int i) CIXF 12 O|FIL ESO|AM 19| 72 2lE
float floatValue() float EfQIo 2 H=E ZF 2|E
int intValue() int Efle =2 tHabE Zf 2|
Tong TongValue() long Etelo =2 HatE Zt 2|E
short shortValue() short Efle = HatE 4F 2|E
static int parselnt(String s) AEE s& 103 M2 HEEE 4 2|83
static int parseInt(String s, int radix) AEZl sE X|HE FIHo| M-z HelE Zf 2[H
static String toBinaryString(int i) CIXIiE 0|FI Holos HalE AEZ 2|H
static String toHexString(int i) CIX} iE 1674 Hoio 2 HelFE AEZ] 2|E
static String toOctalString(int i) CIXI 1 E 8%l HPlo g HatE AEE! 2|E
static String toString(int i) OIXti2 AEZIOZ HEIEHY 2|E



0 Wrapper 248|288 7|&= H[O|E Erg &OrLf7]
Float f = new Float(3.14);

Integer i = new Integer(10);
J ger(10) float ff = f.floatValue(); // ff = 3.14

int ii = i.intValue(); //ii = 10

Boolean b = new Boolean(true);
// bb = true
boolean bb = b.booleanValue();

o =AtE€= 7= OOl Bt o= et

int i = Integer.parselnt("123"); // i = 123
boolean b = Boolean.parseBoolean("true"); // b = true
float f = Float.parseFloat("3.141592" ); // f = 3.141592

Character ¢ = new Character('c' );
char cc = c.charValue(); // cc ='¢’



o 7|2 OOy Efis =AtE = #Het

/1’85 1232 ALY "123" 22 HE
String s1 = Integer.toString(123);

/1’85 1232 16T 10| ARG "7h" 2 A&
String s2 = Integer.toHexString(123);

/| == 3.141592& EXtY "3.141592"= H &t
String s3 = Float.toString(3.141592f);

/| 2&F‘a'& EAIE "a"= HE
String s4 = Character.toString(‘a’);

/| 22l 2t trueE EAIE "true"=2 PHE
String s5 = Boolean.toString(true);
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Ct=2 Wrapper 2eiA&E 2-86t= O O|Ct L& T2 80| A= F AUV

public class WrapperClassEx {
public static void main(String[] args) {
Integer i = new Integer(10);
char c ='4’;
Double d = new Double(3.12345606);
System.out.printin(Character.toLowerCase('A'));
if (Character.isDigit(c))
System.out.printin(Character.getNumericValue(c));

System.out.printin(Integer.parselnt("-123"));
System.out.printin(Integer.toBinaryString(28));
System.out.printin(Integer.toHexString(28));
System.out.printin(i.doubleValue());
System.out.printin(d.toString());
System.out.printin(Double.parseDouble("44.13e-6"));
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Wrapper 2

4= Wrapper 244 2 H
4k A (unboxing)
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o JDK 1.58H X[ ¥
o Ats 2 (Auto boxing)

s 7|2 EIRL 42 AIS2Z Wrapper 2K = Bzt
o A& AEBHA(Auto unboxing)

= Wrapper 4| & Ars2 2 7|= EfY 422 B

Integer ten = 10; // kS 2F 4. 10 -> new Integer(10)2 £ XIS 2F A
inti=ten; // AHS 218F A ten -> ten.getIintValue(); £ Al& 18t Al



CS IO CHsE ZoOb= 291017}

public class AutoBoxingUnBoxing {
public static void main(String[] args) {
inti=10;
Integer intObject = i; // auto boxing
System.out.printin("intObject =" + intObject);

i = intObject + 10; // auto unboxing
System.out.printin("i =" + i);




String2| ‘4’41t £%

o String - java.lang.String
= String 222 diLto| 2t
| AER BEHEHE AEZ R M
String str1 = "abcd";
/| String 2eiA 2| YEXE 0|8sto EAtE dd
char[] data = {'a’, 'b', 'c', 'd'};
String str2 = new String(data);
String str3 = new String("abcd"); // str22t str32 25 "abcd" & At

= String ‘48Xt

AL Mo
String() g AEZ ZHH| A
String(char[] value) DX} HiSol| ZEtE 2X=S AES ZHA|2 AlA
String(String original) OIXI2 =Xl AEZIN E£Z2tS AEZ| ZHA| AlA

Lo | =
String(StringBuffer buffer) AEZ HIHO| Z8HE EAES AEE M= M



A E& 2|E{E 1} new String()

o 2Eg M-
C

o
s B 2lHEZE WY, String s = "Hello";
JVMO| Z2|HE &tg|, S22 Lo 3/ E

= String AKX 2 M4, String t = new String("Hello");
20l String 2K &S Xt 74 71Ae] AER) 2lEf ElOlE
a| @ > "Hello"
String a = "Hello"; /
String b = "Java"; b @ > v
String ¢ = "Hello"; 2
String d = new String("Hello");
String e = new String("Java");
String f = new String("Java"); ‘e > Hello
e L > "Java"
fl @ > "Java"

g 0|22



AE2Zl ZHH|O] = E Xl
0 AEY AKE £ 275
String s = new String("Hello");
String t = s.concat("Java"); // AEZ sof "Java"E HEQ AELS 2|ElIE
f s.concat ("Java") Q| Als# zin
s o o = 0 Waon ae AJ
(5
t @ > "HelloJava"
o ==1} equals()
s 5 AEZES Hu % [} BFEA| equals()E AHESHO{OF 2t

equals()= LIE

HluoH7| &



S A

String

|]-||AI=

e

char charAt(int index)

K| &%= index QIS A0

int codePointAt(int index)

(e]]
M
X|HE index QAN Q)= SL|TFE 2t 2|E

int compareTo(String anotherString)

£ AEZE AN &M 7|&02 H|lu, £ AEZI0| &S
HOo *—E%!OI X ™E AESIHL} AFE o2 HA LIRH
=4, OlLH A4-E 2|

String concat(String str)

boolean contains(CharSequence s)

int Tength()

String replace(Charsequece target,

Charsequence replacement)

= YTe| EXIS2 replacement?} X|H5l=

String[] split(String regex)

G4l regex0i LX[Sl= FES SHC=E AEFS E2[6l

Felg AEZS B0 XMESHH 2fH

String subString(int beginIndex)

beginlndex QIEIALE A&RGH= ME AEEZ 2[E

String toLowerCase() AEZS ARXE HASH AEZ] 2|H
String toUpperCase() AEZS |EXIZ2 HATH AEL 2|H
String trim() AEG YO U IAEE NSt AEH 2[H




= XIE H|u

0O int compareTo(String anotherString)
= ZAIE0| £28 0 2| E

= O] 2XtL0| anotherString 2Lt AFHO| HA LtL
= O] 2XtL0| anotherString 2Lt A Of| LB O Lt

c| H
String a = "java";
String b = "jasa";

int res = a.compareTo(b); .
if(res == 0) Java

3 94 2|
o8 g

7t "jasa" ECF AP0 Lt

P (| OI:A
System.out.printin("the same"); S0 L7 T=0] 2= 2| &

else if(res < 0)
System.out.printin(a +"<"+b);
else
System.out.printin(a +">"+b);

java>jasa
o Hlu ALK === XIS H[W0f|= A

4>
I
0|0
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g 2

di 2
el Sof U
+

System.out.print("abcd" + 1 + true
// abcd1true0.0313Efgh &3

= 1

3.13e-2 + 'E'+ "fgh" );

o String concat(String stnE 0| &%t 2AtE A&

=
"abcd".concat("efgh");
/] “abcdefg” 2|E

7| & String 4H|0f] FELX] B0 MER2 2ET AN 4d

c|H - "abcd", "efgh", "abcdefgh" MEZ CIE F4



concat)2 M 22 =XIE=S Mo

String s1 = "abcd";
String s2 = "efgh";

s - abcd

S2 - efgh

s1 = s1.concat(s2);

abcd

-

abcdefgh

efgh




=XAE el S HA, =XEL 4 =X B

o S KA
= String trim()
A @ F| S8 2 Xttab, enter, space) M ATt 2AHE 2| H
String a =" abcd def ";
String b = "\txyz\t";
String ¢ = a.trim(); // ¢ = "abcddef"
String d = b.trim(); // d = "xyz"

O _"X|' =0 TE'I_‘Xl'

/| "class"0f| L& =l ‘s'O| I+ E M ZE

= char charAt(int index)

int count = 0;
=XAE L] EAF

String a = "class";
// a.length()= 5

String a = "class"; for(int i=0; i<a.length(); i++) {
char ¢ = a.charAt(2); // c ='a’ if(a.charAt(i) =='s")
count++,
}

7<

System.out.printin(count); // 2 =

l



oAl : String SellA HAE 2&

public class StringEx {
public static void main(String[] args) {

String a = new String(" abcd");
String b = new String(",efg");
/I =Xt 44
a = a.concat(b);
System.out.printin(a);
/l =98 A7
a = a.trim();
System.out.printin(a);
/| EXtE CHR
a = a.replace("ab","12");
System.out.printin(a);



Ol X : String EciA HAE &

// "'Xl' = T'_' |
String s[] = a.split(",");
for (int i=0; i<s.length; i++)
System.out.printin("22[&! "+ i+ "H EXLG: " + gJi]);

I ME AE”

a = a.substring(3);
System.out.printin(a);

I EXtEe| =t
char ¢ = a.charAt(2);
System.out.printin(c);
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a = new String(" abcd");

b = new String(",efg");

a = a.concat(b);

a = a.trim();

a= a.r‘Ep1ﬂCE("ab", IIIZIIJ;

String s[] = a.split(",");

a = a.substring(3);

char ¢ = a.charAt(2);

s[0]
s[1]

e >
o— >
® >
o—
o >
® >
e >
® >
® >
g -




StringBuffer 2 el

O java.lang.StringBuffer

- AEL B WK MY S AEY 3 HH TS
= append®?f insert HAEE Soff AEZ &
= StringBuffer 4|2 A7|= £EE ZO|0| et 7HHA
A
o ‘g X}
StringBuffer sb = new StringBuffer("java");
MAX} A%
StringBuffer() Z7| HIHS| 27|7t 162! AE=! HIH ZHA| M
StringBuffer(charSequence seq) seq/} X|&Gt= Lo EXAES Eelet= AEE HIH AHA
StringBuffer(int capacity) AEE =71 37|12 2H= AEZ] HIH MM
StringBuffer(String str) XNEE AEZOCZ R7|stE AEZ HIH M




StringBuffer =82 H&AE

1| ES=

StringBuffer append(String str)

=29

StringBuffer append sb AEE HINE S| AET HIHO| =20t 0| At Xl A
(StringBuffer sbh) E2 Hmo| L=0| st
int capacity() S| AEE HIHe| 37| 2[H
StringBuffer delete _ _
. . start ${X[0i|A] end7} X|H5= =AtS] AT AEH XA
(int start, int end)
StringBuffer insert tr AE2IS AE2] HHO| offset 2IX[0] A2
str AESIS AE offset Yx
(int offset, String str) == = o ==
StringBuffer replace AEZ HIH O] start/| A|&Gt= EAEE| end7| X|AHSk= 2At
(int start, int end, String str) | 22| ME AEZIS str2 X
StringBuffer reverse() AEZ HIH Lo EXIEE Bt &M= HA
AEZ HIH L 2A1E Z40|= newlength= AN, oIX Z0|ELC
void setLength(int newLength) S BIH 4 _fE =0l 9 iSS, =X Z01=0
2 8% 2 2= MM 22 42= 71E 2X1E0| Ao




StringBuffer?| H|AE

=}

g 0

—
StringBuffer sb = new StringBuffer("a"); sh O > a
sb.append(" pencil"); sh ® > a pl e
sb.insert(2, "nice "); sh [ > a n i
sbh.replace(2, 6, "bad"); sb ® > a b| a

oeia o | [ olmaz |

sb.delete(0, 2); sb ® > b | a|d
sh.reverse(); sb ® » 1|1 | c|n
int n = sbh.length(); =10
char ¢ = sb.charAt(3); sh [ »> 1 [i | cl|n

=
A




OIH| : StringBuffer S22 HAE &

StringBuffer 22| £ 2| HAEF 0|85t =XAIE5 Z45t= 0| 2 O[XL
C}S AEO| Ala Ant=>?

public class StringBufferEx {

public static void main(String[] args) {
StringBuffer sb = new StringBuffer("This");
System.out.printin(sb.hashCode());
sb.append(" is pencil"); // Xt Si£0|7|
System.out.printin(sb);
sb.insert(7, "my"); // EXFYE 4]
System.out.printin(sb);
sb.replace(8, 10, "your"); // XY CH x|
System.out.printin(sb);
sb.setLength(5); // 2EZ HIH L} X} Zo| M-
System.out.printin(sb);
System.out.printin(sb.hashCode());




StringTokenizer 222

O java.util.StringTokenizer
= T —E—ng =02 A€ £
ZAES T2 I Ar8 &= 2AE 72 =XAH(delimiter)2t 1 2

String query = "name=kitae&addr=seoul&age=21",
StringTokenizer st = new StringTokenizer(query, "&");

= 22| OOl M ‘&7t Tt 2A
= EZ(token)
T =AE Z2|E 2ArE
= String 2222 split() HIAEE 0[&510 5ot +

rot
N
olr



StringTokenizer &8 HAE

o StringTokenizer 4-d X}

StringTokenizer(String str) str AEZ|O MAIGEF AEZ ETLI0|IN MA

StringTokenizer(String str, String

) str AE2I1 delim 12 2X2 OHAISEFAEZ E3LH0 | AA
delim)

str AEZ T} delim 12 22X OHAISH AEZI EJLI0 1A M
A returnDelims 7} trueO|X delim0| ESHE 2XtE E30f|
=t

StringTokenizer(String str, String
delim, boolean returnDelims)

int countTokens () AEZ EFLI0|Aof| ZEHEl EF 0| i< 2[E
boolean hasMoreTokens () AEE ETLI0|M0| CHE E20] RIS true 2|H

String nextToken() IS EZ 2|E




StringTokenizer Z4X| ‘441 EXIE 2|

String query = "name=kitae&addr=seoul&age=21";
StringTokenizer st = new StringTokenizer(query, "&");

StringTokenizer st = new StringTokenizer(query, "&");

st

st

"name=kitae" E=1
"addr=seoul" E3?
"age=21" EZ3

StringTokenizer ZHX|

"name" EZ1
"kitae" EZ2
"addr" EZ3
"seoul" EZ4
"age" EZ5
"21" EZ6

StringTokenizer ZHx||




Ol X : StringTokenizer S2i{A HAE &
=

'2E5/S=/EH/EF/EFEAES/E T =AE O]
EZS 2200 &4 E2S SH0otet.

import java.util.StringTokenizer;

public class StringTokenizerEx {
public static void main(String[] args) {
StringTokenizer st =
new StringTokenizer("& ds/&s/E&H/EFIEF]", "/");
while (st.hasMoreTokens())
System.out.printin(st.nextToken());

}

}




Math S22

o 7| 2&0l A= AHA

— L

= java.lang.Math

= Tdots M2t NS

s BE HAEL static® 2 MO
m SEA OlECE HIZ = 7t

HA= 2
static double abs(double a) Al 32| AHCiZ) 2|H
static double cos(double a) Al4= a%] cosine &f 2|E
static double sin(double a) Al4= a9| sine Zf 2|H
static double tan(double a) Al2= a%| tangent Zf 2|E
static double exp(double a) e? Zt 2|E
static double ceil(double a) S a5 S E= 5 SOM IS A= Bes 4
£ Eloz 2|H
static double max(double a, double b) F4a b B0A Z 5 2E

static double min(double a, double b)

T a, b BUM = + 2lE

static double random()

0.05CH 7L} 201 1.0 0} XF2 Qlo|o| Al a|e

static double rint(double a)

m

o2 2|H

static Tong round(double a)

RIHE Al a0 71 2R3 HAS A4
X

static double sqrt(double a)




Math Scil£ S 8% H+ 2

ot g2
= static double random()
0.0 O|Af 1.0 O|2to| 2|9 double Zt2 izt
00 A 100A0[2| 8= T 1070 Al7|=
for(int x=0; x<10; x++) {
double d = Math.random()*100; // [0.0 ~ 99.9999] Al
[/ dE YH2 &St M2 BHE [0~100] AtO|Q] H
int n = (int)(Math.round(d));
System.out.printin(n);

}

2|o] AEO|M round() HAE+= Math. round(55.3)2 55.02

2| E15l0, Math. round(55.9)= 56.02 Z|H

= java.uti.lRandom Sci{A 5 O|&otH & [ LYot &

2d 7ts

Ej = =



Of Xl : Math S22 H~E S8

Math SeffA9| Creot HaE &

public class MathEx {
public static void main(String[] args) {

double a = -2.78987434;

/1 EChgf T35t 7|

System.out.printin(Math.abs(a));

System.out.printin(Math.ceil(a)); // ceil

System.out.printin(Math.floor(a)); // floor

System.out.printin(Math.sqrt(9.0)); // A& 2

System.out.printin(Math.exp(1.5)); // exp

System.out.printin(Math.rint(3.141592)); // rint

/1 [1,45] AtO[Q| == b 44

System.out.print("O|EHF 20| 5 =");

for (int i=0; i<5; i++)
System.out.print(Math.round(1 + Math.random() * 44) + " ");

System.out.printin(" & L|C}.");




Calendar 22| A

o Calendar 2222 £E3
= java.util Iy 7| X]
s A|ZEDOF R HE 22

4, 2, Y, 29 AIZL 2, X Yalk, 0 03 5
Calendar S2H20| 2t A|Zt 48 HHs}7|Lt ZofLf7| 9
E==
= o|oj g2=
YEAR A DAY
MONTH = DAY OF WEEK
HOUR O~11A|= HE3TE AIZF AM_PM K| =5 QIX]|
HOUR OF DAY 2N71= 7|22 oF ALt MINUTE
SECOND 7= MILLISECOND




Calendar ZHA|| /d % SR AlZE

o Calendar 2% -
= Calendar now = Calendar.getinstance(); Olﬂ
nowZiXl= A SRet A7t 2 E 74X D MY
Calendar" =M 2212022 new Calendar() ©

O _6._"XH E |' |-A||7_P

int year = now.get(Calendar.YEAR);  // 3& HE
int month = now.get(Calendar. MONTH) + 1; // $1& | &
o & Al 2851

w L§7F 22 'éFW I Al[ZtS CalendarZiX|ZE O| 8510 A%
Calendar K0 X2t AlZHS AE-SCEL SHAM HAFEHO| IRt AZHS
SR 242 ofY > ABEO] AZIIf SRS B CH2 9 08

/I 0" £IFet MZ S 2 Cl|0|ESH Imet AlZH K%

Calendar firstDate = Calendar.getlnstance();

firstDate.clear(); // 1A ™Mt AlZt HEE 25 X[2LC}.

firstDate.set(2012, 11, 25); // 2012\ 12& 25, 1282 112 ™

firstDate.set(Calendar. HOUR_OF_DAY, 20); // XM 8A|IZ MH

firstDate.set(Calendar.MINUTE, 30); // 30822 M7

X &S

-
o



Of| M| : CalendarS O|238}0] S| LWLt A|Zt
EE=| ol M 5}7|

import java.util.Calendar;

public class CalendarEx {
public static void printCalendar(String msg, Calendar cal) {

int year = cal. get(CaIendar YEAR);
/I get()2 0~3077tX[2| H= 2|E.
int month = cal.get(Calendar. MONTH) + 1;
int day = cal.get(Calendar.DAY_OF_MONTH);
int dayOfWeek = cal.get(Calendar.DAY_OF_WEEK);
int hour = cal.get(Calendar.HOUR);
int hourOfDay = cal.get(Calendar.HOUR_OF_DAY);
int ampm = cal.get(Calendar.AM_PM);
int minute = cal.get(Calendar.MINUTE);
int second = cal.get(Calendar.SECOND);
int millisecond = cal.get(Calendar.MILLISECOND);
System.out.print(msg + year + "/" + month + "/" + day + "/");



Of| M| : CalendarS O|238}0] S| LWLt A|Zt
EE=| ol M 5}7|

switch(dayOfWeek) {
case Calendar.SUNDAY : System.out.print("& 2 &"); break;
case Calendar.MONDAY : System.out.print("& 2 &"); break;
case Calendar. TUESDAY : System.out.print("&t 2 &"); break;
case Calendar.WEDNESDAY : System.out.print("s= 2 &"); break;
case Calendar. THURSDAY : System.out.print("= 2 &"); break;
case Calendar.FRIDAY: System.out.print("=& 2 &"); break;
case Calendar.SATURDAY : System.out.print("E 2 &"); break;

}

System.out.print("(" + hourOfDay + "A[)");

if(@ampm == Calendar. AM) System.out.print("27%1");

else System.out.print("2F");

System.out.printin(hour + "A| " + minute +
+ millisecond +"&Z|=");

"H "+ second +"FE ¢



oAl : CalendarS 0|238}0] X LRIt A|ZE
En'-'_=| I;:I Jk-lx-lol_yl

public static void main(String[] args) {
Calendar now = Calendar.getinstance();
printCalendar("€1x ", now);

Calendar firstDate = Calendar.getinstance();

firstDate.clear();
/12012'3 128 252, 12¥E E345t7| 2/5H monthofl 112 M7
firstDate.set(2012, 11, 25);

firstDate.set(Calendar. HOUR_OF_DAY, 20); // X< 8 A|
firstDate.set(Calendar.MINUTE, 30); // 30&
printCalendar("*{& Cl|O|E 8 & & ", firstDate);

}

}
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Project Jigsaw
Modular JDK
Modular Java Source Code
Modular Run-time Images
Encapsulate Java Internal APIs
Java Platform Module System
Hotd 2580 Java E 28 S BH=7] ISHM A%
Jar 7|F R 2| A S J|HorY 2= X[ & 28 HA 2|
’ls 7ts
28ct Est #3010 37| d5 ZH2Ht ts
HICIE 230N 2ot Z5t §AE0 H2 HZ22(z 29
’ts

Eﬂl



0 Java 9 BE
7| K| &S FOAM F&A A 2ElE = A= S H-
Ij7|X|= 2H Y= AAE52 FOA S22 = JAEE 0, 1
OLOf| Al private, protected, public 52| 7tA|E 2 £ O
Ij7|X| L& E= R0M A = A= 2
Fooet ezt &
7| X|2| §-80| 25| FH2ILt H=3E siX|l= B2t
=gl
Ofl: sun.misc.BASE64EncoderL} sun.misc.BASE64Decoder 222
PE2 WREHORE AES2{ THE 7| X| F2| public

250 2F0A Skl= As U= = UAS



o 7|& 47|X| CiH] 2

=2
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Q[0 O|0|X| L& O|L} XML It &2
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= T

Al



module-info.java

0 BE2 module-info.java Tt Qt0j| Of2f 37IX| &
MASH= AZEQO{XQl T

[ M-

module name

exports

requires

module com.mycompany { // | 2= 0|5
exports com.mycompany; // com.mycompany A8 = AU

requires com.yourcompany; // com.yourcompany A& Y



module name

module-info.java

exports

0 module-info.java

= Module name (Z& 0| &)
DEOIE2 =2 W] Yol 7| X| BE &t FA

= Export (O AE XM S5t=717)
iy 20| CHE 28 ZE0A AHE
el 2 E 7K FES S
arok ot S A7} publicO| 2 EX|2HE exportEl Tf7| X[ 0] gio™
DE QE9 O AL O EefA0 M2 =7t

= Require (O] AS0| HRTHI?)
sy REN OfE AV U= CHE BE FE2 A

requires

Mot

L& UEE T APIE



BE 1 WY

o

o 25 72 9H

= module-infojavag 2f-doliOf &

= com.my.app.moduledA|= O|H 22 ALELE X| X|7H
= com.my.hello.module0| M= O I{7|X[E M-S AKX X

52 & com.my.app.module 2 &: com.my.hello.module

i 7| X|: com.my.app 1§ 7| X|: com.my.hello

com.my.app\ com.my.hello\

requires exports

@ wair - — =+ 2= ==[- (© Helo

toWhom: String

o Hello()
@ Hello(String)
@ sayHello(): void

o static main(String[])




Ds 49 g

o bhE E=s A8 3

= com.my.hello.moduleg AFEE v & ModuleAppTest

w [ src

w f com.my.app
[J] AppMainTestjava

mOdU|e Com.my.app.mOdUIe { [J] module-info.java
requires com.my.hello.module; 2 JRE System Horary vt

}

o EE0AM 7|ls= HSdte &
= commy.hello I{7| X[ 2| public 2E{AE ALEE = JUEE &

w =2 ModuleHello

B\ IRE System Library [JavaSE-17]

w (2 src

module com.my.hello.module { v 8 com.my.hell
Hello.java
exports com.my.hello; m@mule_fmm



Ds 49 g

package com.my.hello;

public class Hello {

String toWhom = "World";

public Hello() {

}

public Hello(String toWhom) {
this.toWhom = toWhom;

}

public void sayHello() {
System.out.printin("Hello " + toWhom);

}
}



Ds 49 g

package com.my.app;
import com.my.hello.Hello;

public class Main {
public static void main(String[] args) {
Hello hm = new Hello("Java");
hm.sayHello();

}
}



